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Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of
the primary stress in each of the following questions.
Question 1.  A. proportion B. urbanity C. prestigious D. estimate

Question 2. A. phonetician B. exacerbate C. sanitation D. inhabitant

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

I was an MBA student in the USA and I lived in the university’s coed dormitory. In my culture,
usually, if a woman talks to a man, it is a sign of romantic interest. (3) , in the first few days of
school, I found it strange that so many women (4) to me and I was under the impression that some
women on my dormitory floor were interested in me. To return their politeness, I would buy them flowers
or offer small gifts, as is done in my country. However, [ was quite surprised were talking that these same
women now seemed (5) around me. One was even quite offended and told me to leave her
alone. Eventually I talked to the residence adviser on my floor to see what I was doing wrong, and he
explained to me the way men and women usually interact in the USA. I was quite relieved to hear that
nothing was wrong with me, but rather with the way I was interpreting my conversations with women.

Even though I did not find the love of my life while I was in (6) USA, I still made many good
female friends afterwards (7) I still maintain contact.

Question 3. A. Moreover B. However C. Otherwise D. Therefore

Question 4. A. exciting B. surprising C. uncomfortable  D. amazing

Question 5. A. sees B. saw C. seeing D. to see

Question 6. A. the B. an C.a D. X

Question 7. A. with whom B. to whom C. who D. whom

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined

word(s) in each of the following questions.

Question 8. Many people move to urban areas seeking for job opportunity as well as stable employment.
A. steady B. temporary C. durable D. long-lasting

Question 9. In recent years, Madonna has continued to tour, release albums and engage in humanitarian
work.
A. become uninvolved in B. throw oneself into C. have a hand in D. take part in

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
Question 10. She was brought up in the slums of Leeds.

A. rural area B. downtown area C. industrial area D. poor area
Question 11. She's a down-to-earth woman with no pretensions.
A. idealistic B. practical C. creative D. ambitious

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions.
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Question 12. Father was watching TV and mother was reading a magazine.
A. Father was watching TV while mother was reading a magazine.

B. Father was watching TV when mother read a magazine.
C. Father was watching TV while mother read a magazine.
D. Father watched TV while mother read a magazine.

Question 13. She was reading a book and the man came in.
A. She was reading a book then the man came in.

B. She was reading a book when the man came in.
C. While she was reading a book and the man came in.
D. When she was reading a book and the man came in.

Question 14. The man demanded to be told everything about the accident.
A. The man demanded that everything about the accident tell.

B. The man demanded that everything about the accident told.
C. The man demanded that everything about the accident had told.
D. The man demanded that everything about the accident should be told.

Question 15. A car hit the fence of my garden. I was cleaning the swimming pool.
A. While a car hit the fence I was cleaning the swimming pool.

B. A car hit the fence and I was cleaning the swimming pool.
C. I was cleaning the swimming pool when a car hit the fence.
D. I was cleaning the swimming pool then a car hit the fence.

Question 16. She must find it important to take two medicines every day.
A. It is important that she had taken two medicines every day.

B. It is important that be taken two medicines every day.
C. It is important that she take two medicines every day.
D. It is important that she takes two medicines every day.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
Question 17. The tourists was leaving the hotel at 6 p.m. to take a bus to Angkor Wat.

A. was leaving B. to C. at D. The
Question 18. While Jean drove, Sarah was giving directions from her mobile phone GPS.

A. was giving B. her C. drove D. directions
Question 19. The biggest problem with eating too much sugar is that it can cause the diabetes.

A. that B. The C. the diabetes D. much
Question 20. The teacher demanded that the classroom be cleaning immediately.

A. be cleaning B. that C. The D. immediately
Question 21. We returned from a two-week holiday in a Philippines and Indonesia.

A. from B. returned C. a Philippines D. a two-week

Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.
Question 22. A. lasting B. migrate C. populated D. scale

Question 23. A. inaccurate B. identify C. illustrate D. agricultural

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60
and older, and in 15-20 years the elderly will account for one third of the total population. This raises
concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on
economic integration and requires a large labor force. So far two solutions have been proposed: to loosen
the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the
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two-child policy the government expects to make up for the ageing population within the next 20 years.
But its effect could be creating an uncontrollable boom in the Vietnamese population. When the
government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third
child birth rate increased remarkably by 7.5 per cent.

Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary
evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly
while creating savings in the pension budget, it also means fewer job prospects and promotion
opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per
cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture,
manufacturing and construction where working above the age of 50 can be dangerous and unproductive.
Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key
solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 24. In the 2rd paragraph, the writer suggests that

A. Raising the retirement age and stopping two-child policy can be considered as long-term and
effective solutions.

B. Raising the retirement age can reduce job opportunities for younger generations.

C. The Ministry of Labor has applied raising the retirement age in May 2017.

D. The elderly whose age is 50 would be dangerous if they continued to work

Question 25. The word "temporary' in paragraph 2 means :
A. long-term B. short-term C. permanent D. constant

Question 26. The best title for this passage could be
A. Stopping the two-child policy in Vietnam

B. Raising the retirement age in Vietnam
C. How to solve the aging population in Vietnam
D. Vietnam struggling with ageing population

Question 27. The word “its" in paragraph 1 refers to ?
A. aging population B. retirement age
C. economic integration D. two-Child policy

Question 28. Which statement is probably TRUE according to the information in the paragraph 1?
A. In 2015, the two-child policy has been officially tightened and succeeded

B. The government would promote families to have two children to compensate for the ageing
population within the next 20 years

C. In 2017, the elderly take up for one third of the total population, this leads to more concerns about
healthcare, welfare and pensions for the elderly

D. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global
economy
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 29. We our quality time when the unexpected guess
A. had /came B. were having /came
C. had been having / came D. have had/ would have come

Question 30. Hung was invited to Hoa's party. He wants to thank her for the lovely party.

2

Hung: "Thank you very much for a lovely party." — Hoa: “

A. You are welcome. B. Thanks. C. Have a good day! D. Cheers.
Question 31. At 10 a.m. yesterday, we around Ha Long Bay.

A. sail B. sailed C. sailing D. were sailing
Question 32. In _ rush hour in Ha Noi, it's more convenient to travel by motorbike than to
take taxi.
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A. an/ X B.a/x C. the/ a D. x/ the

Question 33. It is important that he  to the director of the programme.

A. would speak B. speak C. should speak D. speaks
Question 34. Last night, we __ for you for ages but you never __ up.

A. would wait / showed B. waited/ showed

C. waited / was showing D. were waiting / were showing
Question 35. John opened his backpack and his camera out for some photos of Thac Bac
Waterfall.

A. took B. was taking C. had taken D. takes
Question 36. The monk insisted that the tourists  the temple until they had removed their shoes.

A. don't enter B. not enter C. not entering D. not to enter
Question 37. Poor people in big cities still have to deal with many problems.

A. day-to-day B. weather-beaten C. thought-proving D. wide-ranging
Question 38. My friend Brian is a Scot. On _ special occasions, he wears  kilt and plays the
bagpipe.

A.x/a B. x/ the C.an/x D.a/x
Question 39. [Phone 15 is the latest in the field of smartphone design of Apple.

A. creativity B. create C. creator D. creation
Question 40.Is  United Arab Emirates part of South Asia or  Middle East?

A. The / the B.A/a C. A/the D. A/O
Question 41. After winning the MasterChef competition, Christine Ha gained a(n) asa

first-class cook.

A. fame B. reputation C. achievement D. maintenance
Question 42. Liz is telling Andrew about her first novel.

2

Liz. "Guess what? My first novel has just been published.” — Andrew.

A. It's very kind of you. B. Congratulations!

C. It's my pleasure. D. Better luck next time!
Question 43. Kangaroos are found onlyin  Australia.

A. the B. O C. any D.a
Question 44. Bill Gates has made large donations to numerous  organizations.

A. charitable B. charitably C. charities D. charity
Question 45. Mrs. Smith demanded that the heater  immediately. Her apartment was freezing.
A. repaired B. be repaired C. repair D. to repair

Question 46. My favourite pastime is playing  guitar, but my best friend prefers playing tennis.

A. the B. 0 C. an D.a
Question 47. It is necessary that you  able to come with us.

A. being B. are C. be D. to be
Question 48. When Tom me yesterday, | the washing-up in the kitchen, so I the
phone.

A. called / did / did not hear B. had called / was doing / did not hear

C. was calling / was doing / did not hear D. called / was doing / did not hear
Question 49. I can't believe she didn't do anything for the company. I will  and be in charge.

A. take up B. take over C. take in D. take on
Question 50. The talk was long and overloaded with useless information, so I switched

A.in B. off C. with D. for

------ THE END ------
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Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
Question 1. The teacher demanded that the classroom be cleaning immediately.

A. that B. immediately C. The D. be cleaning
Question 2. The biggest problem with eating too much sugar is that it can cause the diabetes.

A. The B. much C. that D. the diabetes
Question 3. The tourists was leaving the hotel at 6 p.m. to take a bus to Angkor Wat.

A. at B. The C.to D. was leaving
Question 4. We returned from a two-week holiday in a Philippines and Indonesia.

A. returned B. a Philippines C. a two-week D. from
Question 5. While Jean drove, Sarah was giving directions from her mobile phone GPS.

A. directions B. drove C. her D. was giving

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks .

I was an MBA student in the USA and I lived in the university’s coed dormitory. In my culture,
usually, if a woman talks to a man, it is a sign of romantic interest. (6) , in the first few days of
school, I found it strange that so many women (7) to me and I was under the impression that some
women on my dormitory floor were interested in me. To return their politeness, I would buy them flowers
or offer small gifts, as is done in my country. However, [ was quite surprised were talking that these same
women now seemed (8) around me. One was even quite offended and told me to leave her
alone. Eventually I talked to the residence adviser on my floor to see what I was doing wrong, and he
explained to me the way men and women usually interact in the USA. I was quite relieved to hear that
nothing was wrong with me, but rather with the way I was interpreting my conversations with women.

Even though I did not find the love of my life while I was in (9) USA, I still made many good
female friends afterwards (10) I still maintain contact.

Question 6. A. However B. Moreover C. Therefore D. Otherwise

Question 7. A. exciting B. uncomfortable  C. amazing D. surprising

Question 8. A. seeing B. to see C. sees D. saw

Question 9. A. an B. X C. the D.a

Question 10. A. who B. whom C. to whom D. with whom

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
Question 11. She was brought up in the slums of Leeds.

A. poor area B. downtown area C. rural area D. industrial area
Question 12. She's a down-to-earth woman with no pretensions.
A. practical B. ambitious C. creative D. idealistic

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions.
Question 13. She must find it important to take two medicines every day.

A. It is important that be taken two medicines every day.

B. It is important that she had taken two medicines every day.
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C. It is important that she take two medicines every day.
D. It is important that she takes two medicines every day.

Question 14. Father was watching TV and mother was reading a magazine.
A. Father watched TV while mother read a magazine.

B. Father was watching TV while mother read a magazine.
C. Father was watching TV when mother read a magazine.
D. Father was watching TV while mother was reading a magazine.

Question 15. The man demanded to be told everything about the accident.
A. The man demanded that everything about the accident tell.

B. The man demanded that everything about the accident had told.
C. The man demanded that everything about the accident told.
D. The man demanded that everything about the accident should be told.

Question 16. She was reading a book and the man came in.
A. She was reading a book when the man came in.

B. She was reading a book then the man came in.
C. When she was reading a book and the man came in.
D. While she was reading a book and the man came in.

Question 17. A car hit the fence of my garden. I was cleaning the swimming pool.
A. A car hit the fence and I was cleaning the swimming pool.

B. [ was cleaning the swimming pool when a car hit the fence.
C. While a car hit the fence I was cleaning the swimming pool.
D. I was cleaning the swimming pool then a car hit the fence.

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
Question 18. In recent years, Madonna has continued to tour, release albums and engage in humanitarian

work.
A. take part in B. throw oneself into
C. have a hand in D. become uninvolved in

Question 19. Many people move to urban areas seeking for job opportunity as well as stable
employment.
A. temporary B. steady C. long-lasting D. durable

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60
and older, and in 15-20 years the elderly will account for one third of the total population. This raises
concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on
economic integration and requires a large labor force. So far two solutions have been proposed: to loosen
the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the
two-child policy the government expects to make up for the ageing population within the next 20 years.
But its effect could be creating an uncontrollable boom in the Vietnamese population. When the
government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third
child birth rate increased remarkably by 7.5 per cent.

Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary
evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly
while creating savings in the pension budget, it also means fewer job prospects and promotion
opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per
cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture,
manufacturing and construction where working above the age of 50 can be dangerous and unproductive.
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Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key
solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.

Question 20. The word "temporary" in paragraph 2 means .
A. short-term B. long-term C. constant D. permanent

Question 21. The best title for this passage could be
A. How to solve the aging population in Vietnam

B. Vietnam struggling with ageing population
C. Raising the retirement age in Vietnam
D. Stopping the two-child policy in Vietnam

Question 22. Which statement is probably TRUE according to the information in the paragraph 1?
A. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global

economy.

B. In 2017, the elderly take up for one third of the total population, this leads to more concerns about
healthcare, welfare and pensions for the elderly.

C. In 2015, the two-child policy has been officially tightened and succeeded.

D. The government would promote families to have two children to compensate for the ageing
population within the next 20 years.

Question 23. The word “its" in paragraph 1 refers to ?
A. retirement age B. economic integration
C. two-Child policy D. aging population

Question 24. In the 2rd paragraph, the writer suggests that .
A. The elderly whose age is 50 would be dangerous if they continued to work

B. The Ministry of Labor has applied raising the retirement age in May 2017

C. Raising the retirement age and stopping two-child policy can be considered as long-term and
effective solutions

D. Raising the retirement age can reduce job opportunities for younger generations

Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of
the primary stress in each of the following questions.

Question 25. A. sanitation B. phonetician C. exacerbate D. inhabitant
Question 26. A. estimate B. prestigious C. proportion D. urbanity

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
Question 27. I can't believe she didn't do anything for the company. I will  and be in charge.

A. take over B. take in C. take up D. take on
Question 28. The monk insisted that the tourists _ the temple until they had removed their shoes.

A. not to enter B. don't enter C. not enter D. not entering
Question 29. Last night, we ____ for you for ages but younever ___ up.

A. would wait/showed B. were waiting /were showing

C. waited / showed D. waited/was showing
Question 30. Kangaroos are found only in _ Australia.

A. the B.a C.o D. any
Question 31. Poor people in big cities still have to deal with many problems.

A. weather-beaten B. day-to-day C. thought-proving D. wide-ranging
Question 32. At 10 a.m. yesterday, we around Ha Long Bay.

A. sailed B. were sailing C. sail D. sailing
Question 33. John opened his backpack and his camera out for some photos of Thac Bac
Waterfall.

A. took B. had taken C. was taking D. takes
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Question 34. When Tom me yesterday, I the washing-up in the kitchen, so I the

phone.
A. was calling / was doing / did not hear B. had called / was doing / did not hear
C. called / did / did not hear D. called / was doing / did not hear

Question 35. Hung was invited to Hoa's party. He wants to thank her for the lovely party.

Hung: "Thank you very much for a lovely party." — Hoa: * ”

A. You are welcome. B. Thanks. C. Cheers. D. Have a good day!
Question 36. In rush hour in Ha Noi, it's more convenient to travel by motorbike than to
take  taxi.

A. the/ a B. an/ x C.a/x D. x/ the

Question 37. Liz is telling Andrew about her first novel.

2

Liz. "Guess what? My first novel has just been published.” — Andrew. “

A. Congratulations! B. It's my pleasure.

C. Better luck next time! D. It's very kind of you.

Question 38. My friend Brian is a Scot. On _ special occasions, he wears  kilt and plays the
bagpipe.

A.x/a B. x/ the C.an/x D.a/x
Question 39. My favourite pastime is playing  guitar, but my best friend prefers playing tennis.

A. O B. the C.an D.a
Question 40. Bill Gates has made large donations to numerous __ organizations.

A. charitably B. charity C. charities D. charitable
Question 41. The talk was long and overloaded with useless information, so I switched

A. with B. off C. for D. in
Question 42. It is necessary that you  able to come with us.

A. are B. being C. be D. to be
Question 43. After winning the MasterChef competition, Christine Ha gained a(n) asa
first-class cook.

A. maintenance B. achievement C. fame D. reputation
Question 44.Is  United Arab Emirates part of South Asiaor  Middle East?

A.A/a B. A /the C. The / the D. A/O
Question 45. We our quality time when the unexpected guess .

A. had been having / came B. were having / came

C. have had / would have come D. had / came
Question 46. Mrs. Smith demanded that the heater  immediately. Her apartment was freezing.

A. be repaired B. repaired C. repair D. to repair
Question 47. It is important thathe ~ to the director of the programme.

A. should speak B. speaks C. speak D. would speak
Question 48. [Phone 15 is the latest in the field of smartphone design of Apple.

A. creator B. creativity C. create D. creation

Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.
Question 49. A. scale B. migrate C. lasting D. populated

Question 50. A. identify B. illustrate C. inaccurate D. agricultural
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